Efficiency vs P,

+0.05 T T
2 : : :
L0045 -----enriereeee Fraseneeeaad SRR

> E : : :
2 0.04F----rerrmirrrnee R R RRREE ARRERREERERN
9] o : : :
D.035f- oo oo s

[} . . H
0.08F oo e e
0.025 Froeeeeeee e o
0.02
0.015 C 3 S Beoeeeees A—
008 s S S

0.005f -+ +--vevieesnenenens  ERCRLE SIRPELTIRPS
o . Bf— A R R
g % :
o [

1_— ----- B A T

107 1 10 prT (Ge\})o3

—s=— DQM_V0001_R000000001__Global__mkFit100Timeo_ RECO

—— DQM_V0001_R000000001__Global__mkFit100Time__RECO

=0.05

o E 5 5 5 5
D.045F -+ T | e
8 E . . : . :
g 004 A | T
o o . . - . .
£0.035 o koo
©] E : : N . .
0.03-- A RARREIREREAY {RRRRRREARERE | & FAASEARS
P S Y N | S
0,02+t b
YT SRR IR R O 1
0,00 -+l
E : : : ye l|ll| :

0.008E- - F-44- L L L
e

Ratio

[y
> «
» o
» o
+
+
ols
=
> <
» o

Efficiency vs ¢

o0.05¢
o E
2.045F
2 :
50.04F
o .
.035E
o :

0.03F
0.025E

0.02F -
0.015F-:{-

0.01E;

0.005fmr - [4F [ 5 rkl ks f 1 b -

1.0 B

Ratio

||'-|||| T




	Contents
	Page 1


